ﬂ i
) &

Elephant Fluid Power

AERAENNIEIRLE]
Elephant Fluid Power Co., Itd

R IEE eI
Hydraulic Steering Unit

RE Al AxRE
Shijiazhuang, Hebel, China




=i

CONTENT
— BZZ ARV REFEOIZS

BZZ Series Hydraulic Steering Control Units 2-11

BZz RIIZREROES (B )

BZZ Series Hydraulic Steering Control Units (SCU) 2-5

Bzz1, BZz2, Bzz3 RIIREHG)ES

BZZ1, BZZ2, BZZ3 Series Hydraulic Steering Control Units (SCU) 6-8

BZZ5 AIEREHOIES

BZZ5 Series Hydraulic Steering Control Units (SCU) 9-11
— 060 RIIDREFGOES

060 Series Hydraulic Steering Control Units 12-14

060 RINBIANEMRELERELEOIES

060 Series Hydraulic Steering Control Units (SCU) 12-14
=10 RIIZRE:OIZS

10 Series Hydraulic Steering Control Units 15-40

101 RIBAERNEMRELSREFEOES

101 Series Hydraulic Steering Control Units (SCU) 15-30

103 RIBANENRE S REFEOIES

103 Series Hydraulic Steering Control Units(SCU) 31-36

109 RIBAFNENRE EREREOES

109 Series Hydraulic Steering Control Units (SCU) 37-40
RES

Valve 41-45

PV RULSTHR

PV Type Priority Valves 41-45
h REFEOZEERRARD N BIEHRR

RIEFO)e3ER %

The installation and use of full hydraulic steering 46-46

=N BEHERR

Common causes and troubleshooting 47-47




A

Elephant Fluid Power

RKEREENBRLA
Elephant Fluid Power Co.,Ltd

BZZ #R3I&RIE%Rm=F
BZZ Series Hydraulic Steering Control Units (SCU)

EREROE AT IEFERROMBRERIE. B%RA
TRLCTLURBIRMND, KIRABRGDES, H#8
EMEErZE. O%, RMLEE. RiE.

BZZ1, BZZ2, BZZ3AI£REHAQBABT I R:
B TUEDRE, TJREINRE, RETFEERN
2540
BRIEREEN;
ERVIRNEY, TSEMAIRADEG;
TRRIONEH TESRTRITHES
RESEHNOBURENR Y 2oNEEF:
BER IR R ERAARFIEE.

BZZ5ASAFRBRERELDQBRABLABT I, EAS
TRES:
TERBEDK/N. DRRKRRIE, TIERIRCIBIER
X, ENEBNRE, RIEROT%. R BE;
BRELOME, ROROARHGHIREVREN, FR
BLOIHLEEDESER, MMBEREDBESUBIEZMENR
BIDEK, RS T ARME,

Hydraulic steering control unit(SCU) is widely used both in the
steering system of vehicles and the marine rudder. The operator
can obtain bigger steering control force with less steering force,
and its function is more safety and reliable, its operation is more
smooth and flexible.BZZ1,BZZ2,BZZ3 series SCU offers the
advantages as follows:

This kind of SCU series can help you reduce the machinery cost
without mechanical linkage device, and can offer reliable and light
structure.

This kind of SCU series can operate more flexible with light
steering torque.

This kind of SCU series can offer emergent manual steering in
case of engine failure.

This kind of SCU series can be steering at the continuous speed
with less steering torque.

This kind of SCU series can offer various hydraulic system and
different mounting choice.

This kind of SCU series can link various steering pump and
hydraulic steering system.

In addition to the advantages mentioned above, BZZ5 series SCU
has the features as follows:

BZZ5 series SCU can supply priority relative flow to ensure
reliable , sensitive and flexible steering according to the
requirement of hydraulic steering system, whether the load
pressure is big or small, or the steering wheel rotates quick or
slow.

In addition to the necessary flow supply to the steering system,
the remaining flow out of the pump can be supplied to subsidiary
flow system, so that the system can avoid the power loss caused
by surplus flow out of the steering flow system, and the system
efficiency can be increased.



Fluid Power

RKEREENBRLA
Elephant Fluid Power Co.,Ltd

BZZ %I &iHEE

BZZ Series Hydraulic Steering Control Units (SCU)
BARER GeneraI Description

BZZ AB|E28aAVINaEE
BZZ Series Function

HOARS

In open center system

BZZAFIZ R e m2sth— M heieRAF] — WIEEF NG EHK, @O FEOSER
AEWMNSOR L, HHOR%ET, MEORFEHHRREVBLIERRAIEE FERBHIT
NG (EURFIEESM).

BESRIFHB RS HOREARIEL. WRMEORSIHRESAARD, Zik0eE
NI =HFEIRER.

BZZ series hydraulic steering unit is consisted of one pair of rotary valve and one pair of
gerotor. Via the steering column, the steering unit links the steering wheel, when the steering
wheel rotates, the oil flows out of the supply pump of the steering system , through the rotary
valve and the gerotor , to the cylinder’s port left or right ( depend upon the rotation direction).

The gerotor supplies the oil to the steering cylinder in proportion to the angular rotation of the

steering wheel. If the oil flow out of the supply pump of the steering system is too small, the
steering unit can work as the manual pump.

BRAOR, ROsteieEmbFoonty, hRIpsfEE2ERs. EPT
HRAARP, —RERESHR.
Release the steering wheel, the rotary valve stays in the neutral position, the pump and the
tank is linked in open circuit. The constant pump is normally used in the open center steering
system when the valve stays in the neutral position.

HInAYE
In closed center system

REOOE, ROBOERELTFPIEY, ROsseEdime XA, APUmuvilik
[ARFP, —RERESHR.
Release the steering wheel, the rotary valve stays in the neutral position,the input port is
closed.the variable pump is normally used in the close center steering system when the
valve stays in the neutral position.

WEAANEEER
Technical requirement for
steering column

REHESIEUVRERIENMSEMO A HERRSENEAN L, LREREINZERS
S[ETERMELIS, ESIORIPLIE,

The structure of the steering column must ensure not to transfer the axial load to the output
shaft of the steering unit. While the steering column is mounted, the steering unit should be
able to return to the neutral position after its steering operation.

ROE LHRM D
Steering torque of the steering
column

EIERRNEZET, DHsTahRHERBIRER, HARNSARARERBIY
5N'-m, WRHDETOEBRAEELDAMEERD, BOBKEHDERFHIR, EF
BRAEIANKROQ)RET, SAREMARERESAEATFSNM, BEHEABMAREEIAT
120N-m, BNEESEIEROBAEBHSHRIF.

Under the normal steering, the pump of the power unit supply enough oil , the max. torque of
the steering wheel is no more than 5 N.m. If the pump fails to supply oil or supply insufficient
oil, hydraulic steering unit will automatically change into manual steering.Under manual
steering, the steering torque is obviously more than 5 N.m. However the max. torque cant be
bigger than 120 N.m. or it will cause some damages inside the parts of steering unit.



RKEREENBRLA
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

BZZ RI|&i&kIER[CE
BZZ Series Hydraulic Steering Control Units (SCU)

KI5 Order Code

Bz [J—e LI LI

0
O
—0

HWE R (MP4RIS, LSHBOFHABIP11E)
Code for other requirements(see the table on Page 4;
see the table of LS special port code on page 11)

BOAE (P4, PT1TTER)
Ports code (see the table on Page 4 and Page 11)
FHEAIR
Code for special characteristics(see the table on Page 4)
- AKIFO+SEE

. A:Long spigot, cross-block mounting

CEREUTY , i
1 B:SAE i e ER:

Mounting Data B:SAE involute spline mounting

— CHRLIEO+ZHhEs
C:Short spigot, cross-block mounting

H#FE Displacement

E754; Pressure grade 16MPa

1. G ME 1:0pen center non-reaction
2. imE /A 2:0pen center reaction
AL/ MHE 3:Closed center non-reaction
5: AT EmE 5:Load sensing

BRI R ERDE
Cycloid Rotary Valve Hydraulic Steering Units

DREFTS

Function Code

[TTT]




Fluid Power

RKEREENBRLA
Elephant Fluid Power Co.,Ltd

BZZ ZI&HERE SR

BZZ Series Hydraulic Steering Control Units (SCU)

eS| it BN &t
Category Code Definition Remark
i ey EOSREEOARSG, G100 AW, FEN. KBNS
(BRe) Sial Fit vari teeri t tractor, load d road
- Common Type it various steering system, e.g. tractor, loader, and roa
(omit) roller, etc. mainly used in china.
D FARYE: Input torque —
1.6N'm~2.4 N'm BETISEERARE, B X%,
SRS fit steering system of vehicles that driving on flat road ,
Characteristic IS HIAIHZE: Input torque such as forklift.
Code =1.6N'm
B pisn. A, S, BE. DUMEESLDE, 3R
EfOMEEERHEZRAWRR (NRED BER,
Codes for the requirement of other performance e.g. manual steering, lower terminal steering feeling,
characteristics (should be confirmed in an agreement) | noise and back-to-the-neutral-position function etc., or
comprehensive requirement.
13 P, T. A, BAO IERIRNC BV
Code Ports P,T,A,B Column Mounting C Valve Mounting V
(RE) | M20x1.5 M10 M12
(omit)
A M18x1.5 M10 M12
B G1/2 M10 M10x1
C 3/4-16UNF O-ring 3/8-16UNC 3/8-24UNF
HOAH D M20x1.5 O-ring M10 M12
Ports Code E M18x1.5 O-ring M10 M12
G M22x1.5 M10 M12
Q M22x1.5 O-ring M10 M12
u G1/2 O-ring M10 M10x1
M 3/4-16UNF O-ring M10 M12
| 3/4-16UNF O-ring M10 M10
N 3/4-16UNF O-ring M10x1.25 M10
R P.T: M22x1.5
A,B: M18x1.5 M10 W32
P,T: M22x1.5 O-ring M10 M12
e A.B: M18x1.5 O-ring
HER FEIEMMAESIN., HREGEFHE. MMEBEANE.
Other Mainly refers to the appearance, paint color efc. specified by agreement; the code will be listed in the
Requirements agreement.

E1: BOP. T, A, BEYRE14 mm, EZIRNC. VEIRE16 mm,
Note 1: Ports P, T,A.B Depth : 14 mm; Column Mounting C & V Depth: 16 mm.




i1 o &
Elephant Fluid Power

RKEREENBRLA
Elephant Fluid Power Co.,Ltd

BZZ1. BZZ2. BZZ3 ZRIIDREFRGR

BZZ1, BZZ2,BZZ3 Series Hydraulic Steering Control Units (SCU)

I EERFS Function Code

A * B
e e e R
; 7 i ! A
PV
BZZ1 i W _J J
FriTE R R B .l |
Open center non-reaction : f:\ T l
| i
; A~ ' P
(I D | S S———
P T
A B
';' [
- M |
BzZ2 M| O |
FsH R o | i
Open center reaction i iy | |
_ 1
; A ' P
D N | S S
P T
A B
T,
; - ’X == |
| s
- ) :
BZZ3 i e |
AT R Rz B ; B A |
Closed center non-reaction | T |
3 P ! P
W o | s M
P i}



RKEREENBRLA
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

BZZ1. BZZ2, BZZ3 ARIIDREFEOIZE
BZZ1, BZZ2,BZZ3 Series Hydraulic Steering Control Units (SCU)

FEHASE Main Specification

B = H = m 2 BAAOED | ZAESEE| & 2

Displacement Flow Max.input Max. cont. back| Weight
Type (mL/1) {L/min) pressure (MPa) |pressure (MPa) (kg)
BZZ [1-E50 = 50 4 4.72
BZZ [1-E63 * 63 5 4.85
BZZ [1-EB80 * 80 6 5.00
BZZ []-E100 * 100 7.5 5.27
BZZ[]-E125 = 125 9.5 5.43
BZZ[]-E160 = 160 12 5.75
BZZ [J-E200 * 200 15 6.08
BZZ []-E250 * 250 19 16 25 6.48
BZZ[]-E280 * 280 21 6.78
BZZ [1-E315 * 315 24 713
BZZ []1-E400 * 400 30 778
BZZ [1-E500 = 500 38 8.67
BZZ [1-E630 * 630 48 9.72
BZZ [1-EB0O * 800 60 11.18
BZZ J-E1000 = 1000 75 12.80

E1: OAEERS,: HpBZZ2RUiKOgsH50~200mIr]iHiiE, BZZ1RUAIBZZ3RNEOIssH
50~1000mI/rg] {551,

Note 1:[represents Function Code, BZZ2 can be chosen for SCU with the displacement of
50-200mL/r. BZZ1 or BZZ3 can be chosen for SCU with the displacement of 50-1000mL/r.

d2: AR ELARKERA60/mIng)1 . 25EEVASE, SRR AR, DFESEE
2,

Note 2: “Flow” that we suggest to use is the flow of 1.25 times as much as that at the steering
wheel’s rotation speed of 60 r/min. If the design of the system can't meet the requirements, the
flow is allowed to be adjusted a little bit.



RKEREENBRLA
Elephant Fluid Power Co.,Ltd

Fluid Power

BZZ1, BZZ2, BZZ3 ARI|EREF:OES
BZZ1,BZZ2, BZZ3 Series Hydraulic Steering Control Units (SCU)

& # R~ Mounting Data

222 |
116/32-12-30° {SAE) depth 15

¢4g_—g._!_u

119.5) 37,

il ATER2

Short ringed boss Ll

. BrRLEOREREDR, KIEORBEINSISER 9, 16 ) 19.5 418, 25 £ 30.5;

Note1: Above is for short ringed boss connection dimension. When dimension is 18, 25, 30.5, instead of
9,16,19.5 long ringed boss connection is available for reference above.

F2: BORPIRRIEFERGP4BORE",

Note 2: please check Page 4 for the port code .

1, BRI, il

Type L (mm) AR BZZ3 S R E550~1000ml/r
BZZ (1-E50 * 140 R,
BZZO-£63* 141 Note 1: [] represents Function
BZZ [1-E80 * 142.5 Code,BZZ2 can be chosen for
BZZ J-E100 * 145 SCU with the displacement of
BZZ O0-E125 * 148 50-200mL/r . BZZ1 or BZZ3 can
BZZ []_E160 * 153 be chosen for SCU with the
BZZ [—E200 * 158 displacement of 50-1000mL/r.
BZZ O-E250 * 164
BZZ (1-E280 * 169
BZZ-E315* 174
BZZ [1-E400 * 184
BZZ 1-E500 * 197
BZZ (1-E630 * 216
BZZ (J-EBOO * 236
BZZ O0-E1000 * 262




Elephant Fluid Power

RKEREENBRLA
Elephant Fluid Power Co.,Ltd

BZz5 #HII&HERKERE
BZZ5 Series Hydraulic Steering Control Units (SCU)

ARERBUNERAREP, KOAFN TIEARGFEIMN
FRTEREA—THBREHAKMARFESR. BV, EEMEH
RBRBMEVBR, RTRBRAFEAINB R TEERE,

AEHE RS — TLSOMWINE RN TRI AT
NARBILSO, EROBNERARBEDESLBEREE
BRE <2mERRIMSLRADBRLBR, BLUIEHIRSHE
LSIROBEHE,

FER RS Main Specification

As for load sensing steering system, the steering system and the
operational system may use the same pump through the priority
valve or the load sensing system can distribute the surplus oil of
the steering system into the operational system. Meanwhile, if the
pump with load sensing is used , the load sensing will have obviously
productive results.

The LS port of the load sensing steering unit has to connect with
priority valve or LS port of load sensing pump, so that the signal of
the steering load pressure of the steering unit can be transferred to
priority valve or load sensing pump through oil hose ( we suggest that
the length of the hose is =2 m), to control the oil volume supplied to
steering unit by the control system.

n e 8 % & |POBER) giAnmn | moessE | mxanemne
Displacement Length M'::: -_ Max. input Max. cont. back Max. power

Type (mLir) L(mm) Speec" (150} pressure (MPa) | pressure (MPa) | steering torque (N-m)

BZZ5-E 50* 50 140

BZZ5-E 63* 63 14

BZZ5-E 80* 80 1425

BZZ5-E 100* 100 145

BZZ5-E 125* 125 148 150

BZZ5-E 160* 160 153

BZZ5-E 200* 200 158

BZZ5-E 250* 250 164 16 1.6 =5

BZZ5-E 280* 280 169

BZZ5-E 315* 315 174 75

BZZ5-E 400* 400 184

BZZ5-E 500*% 500 197

BZZ5-E 630* 630 216 i

BZZ5-E 800+ 800 236

BZZ5-E 1000* 1000 262




RKEREENBRLA
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

BZZ5 ZR3|&ikEERES
BZZ5 Series Hydraulic Steering Control Units (SCU)

INEERFE Function Code A B
R

-} M :
BZZ5 W e |
Tt A ' s |
Load sensing I H AR
P i
| o |
] PR | T

P T LS

1% 3# R~ Mounting Data

= | ,f'/ =l %
: ©WR) |
& \.\ I,:'
o
B @ e
P
c Vi 8+g.f
84 x84
L
=1ra

Short ringed boss

82

16/32112-30° (SAE) depth 15

$44. 4.9 10 -

6.9

PR

Involute spline

10




Fluid Power

ARERAENNBRLE

Elephant Fluid Power Co.,Ltd

BZZ5

RIEHIER R

BZZ5 Series Hydraulic Steering Control Units (SCU)

HOMA
Ports Code
#9) Hig P. T. A. BBO ERIRLIC ERIRLV LS#0
Category Code Ports P,T,A,B Column Mounting C Valve Mounting V Port LS
(iRed
Comit) M20x1.5 M10 M12 M12x1.5
A M18x1.5 M10 M12 M12x1.5
B G1/2 M10 M10x1 G1/4
c 3/4-16UNF O-ring 3/8-16UNC 3/8-24UNF 7/16-20UNF O-ring
O D M20x1.5 O-ring M10 M12 M12x1.5 O-ring
Ports Code E M18x1.5 O-ring M10 M12 M12x1.5 O-ring
G M22x1.5 M10 M12 M12x1.5
Q M22x1.5 O-ring M10 M12 M12x1.5 O-ring
u G1/2 O-ring M10 M10x1 G1/4 O-ring
M 3/4-16UNF O-ring M10 Mi12 7/16-20UNF O-ring
| 3/4-16UNF O-ring M10 M10 7/16-20UNF O-ring
N 3/4-16UNF O-ring M10x1.25 M10 7/16-20UNF O-ring
R P.T: M22x1.5
AB: M18x15 M10 M12 M12x1.5
P,T: M22x1.5 O-ring
% ALB. M18x1.501ing | " ° Ll ML

1. HOP. T, A BEUZRE14 mm, JEEELC, VEZERE16 mm, HDLSEIEE12 mm,
Note 1: Ports P, T,A,B Depth : 14 mm; Column Mounting C & V Depth: 16 mm;Port LS Depth:12mm.

SLSHBORUYARNE EAFRELHEN, BORiBaEN - . #R TERBEELSHN.

If the dimension of LS port don't comply with the specifications in the above form, add "—" after the port
code and then choose LS code according to the following form.

HOMRE Ls;i0
Ports Code Port LS
1 M12x1.5 O-ring
3 G1/4
5 7/16-20UNF O-ring
6 G1/4 O-ring
7 M12x1.5

11




oy KSR HEIRAT

ElaphantFlurd Powar Elephant Fluid Power Co.,Ltd

060-1. 2. 4 RII2HEK
060-1,2,4 Series Hydraulic Steering Control Units (SCU)

EI 24588 Order Code

060 -0 —-0O0O0—-00—-0

L WOARB
Ports Code
LZEEEINSEE

Relief Valve Pressure Settings
HE

Displacement

DEERS

Function Code

060 #3£ @ EEO /(S LR
060 Series Hydraulic Steering Control Units(with integrated valve)

INEEFFS Function Code

h - i*a i - “ e __IB | ﬁ—I r—‘B
iy b{o_ : : L?&MW
I fWXFﬂI N b | i'j{;¥‘
O “ ] :,M:

P T
060-1 060-2 060-4
FOFRA S ATVE=1=1] FOTE R
Open Center Non-Reaction Open Center Reaction Open Center Non-Reaction

12



@

Elophant Fluid Powar

A&

RN HBRAE

Elephant Fluid Power Co.,Ltd

060-1. 2. 4 RI|L2KEHK S

060-1,2,4 Series Hydraulic Steering Control Units (SCU)

FTEHARSH Main Specification

Parameters Type DB0-#-sww-wr-%
Function Code 124 1,4
Displacement(mL/r) 50 63 80 100 125 160 200 250 280 315 400
Rated flow (L/min) 5 6 8 10 125 16 20 25 28 32 40
Maux. input pressure (MPa) 17.5
Relief Valve Pressure Settings (MPa) 06,07.08,10,12,14,15,16.,17.5
Shock Valves Pressure Settings (MPa) 12,13,14,16,18,20,21,22,23.5
Max. cont. back pressure (MPa) 25
Weight (kg) 575 | 581 | 589 | 596 6.1 6.3 65 | 673 | 6.91 7.1 75
Dimension L (mm) 130 132 134 137 140 145 150 156 161 166 176
20115 1§ fftean oo §1
NI2ELS 3 10 .
RIS\ T
& .
B Ll | o)
A:‘l G | s —

044 40
_F_!_\
A |
(N2 f’
Ao i
&
a4

-
=
 —
=
I

1871 4 _ ,
1] ! 12t A e
5 ' i AARE 15m
s 884L Ports Threads
143 P. T. A, BHO EBmC RV
Code Ports P,T,A.B Column Mounting C Valve Mounting V
A | M20x15
B | M20x1.50-ring o
c M18x1.5
D M18x1.5 O-ring
E |G M10 —
u G1/2 O-ring
M M12
F _ 3/8-16 UNC 3/8-24 UNF
" 3/4-16UNF O-ring WD
N M10x1.25 Mo

A1 MOP. T. A, BRRE14 mm, EBHEIC, VEIRE16 mm,

Note 1: Ports P, T, A, B Depth : 14 mm; Column Mounting C & V Depth: 16 mm.
F2: BtlOEEsmnRERs.
Note 2: The code of other ports dimensions will be listed in an agreement.

13




Rl > RKEREENBRLA
ElaphantFlurd Powar Elephant Fluid Power Co.,Ltd

060-1. 2. 4 RIZREEGR
060-1,2,4 Series Hydraulic Steering Control Units (SCU)

060-1. 2. 4 =RiTH %= Order Code

Pos.1 Pos.2 Pos.3 Pos.4
060 | - | ¢« | = | = | - | » | ~ | & |
| Pos.1 l - |];UEE?§§ Function Code ]

Hdh, 1: 70T/ M 1:0pen Center Non-Reaction
2:HinER M 2:0pen Center Reaction
4. o/ 4:0pen Center Non-Reaction

| Pos.2 ‘ = |HE5 Displacement mL/r ]

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

| Pos.3 ‘ - |§&|ﬁ§ﬁ&ﬁé Integrated Valve Parameter]

ZLEEISEE: Relief valve pressure settings (MPa):06, 07, 08, 10, 12, 14, 15, 16, 17.5
(EDEEMSEELZEE/ENS6MPa)

Shock valves pressure settings is 6 MPa higher than relief valve

| Posa | - |MORH Ports Code
Ao BBy Dy By U My Folk N

jzzE==0 P For example:
060 A5FeEgE, FUTT/RL, HE125mL/r,  Order code
ADBEER, Z2@EN10MPa, EPERED  060-1-125-10 - E

16MPa, PIHIDIBLING1/2, FEBH, BEEES
ERREMI0, Ports: P, T AB G1/2;
EO8R]EES4: 060-1-125-10-E Column Mounting Thread C M10

Relief Valve Pressure Settings: 10Mpa;
Shock Valves Pressure Settings: 16MPa
- Displacement: 125 mL/r
Open Center Non-Reaction

14



Elephant Fluid Power

AERENNIBIRATF]
Elephant Fluid Power Co.,Ltd

10R3 2REHOE
Hydraulic Steering Units 10 Series

10RFEREHEOQBOIRENERINSHE, ™BUIUEMR
B, Bl SERARSEDEHIRE.

107553/ iZ NI A F250 TR BITENMBIENF0M
RERAEBIEARL, STMBARNNN, EHRKENNED
BEIBVENE; RARE. T, ZEURE; ERNBOERILL
FLEREEDBORQMED, FHLERBETFAR: £
RBIENZHIE, TUERMEARFNITIEES. EPENS
=,

10RF ™ GEERR TS ERRE. 10/ nRRE
EFWMERINGSH, Tl R6/7EEHEF4/555EAAR
3,

B/7TEEHAT: BRERR TR N101, 102, 10375

(HoP: 102R5I69EER T 5BZZATNERER T8
4I5EEMAS: EXN109RS, BFKRAFEIFER,
IREH119, 129%%1,

10R3GRIFEMADROR; FTRIRRESHEME
RENBNBRILDAAE TR, EIRSHES; RER
TAEEMENDR, FSRAHFRMEDE, XFHTITRM
A6, ERZERNEPERLUNBIRT, (REXZERLUL
(EEE

101, 102, 103RFIESHATP13, 109FRFIE SRR
P47,

15

Hydraulic Steering Unit 10 series is integral hydraulic steering unit, the
valve body of rotary valve is integral structure, then the steering unit
can integrate with cartridge valve, such as the pressure control valve
of the integral system.

Hydraulic Steering Unit 10 series is widely used in the steering control
system of different kinds of engineering vehicles, such as the steering
system of many kinds of industrial and agricultural mobile machinery
forklift, loader, road roller, tractor, combine harvester, and the ship
helm etc. The steering unit can control the steering cylinder with
bigger resistance force by inputting minor force; It's easier , flexible
and reliable; The integral check valve can prevent the system
pressure oil from anti-vibration , and prevent from “hit-hand” during
the steering operation; Integral pressure control valve can control the
operation pressure and the shock pressure of the steering system.
The mounting dimensions of Hydraulic Steering Unit 10 series are
consistent with the international standard. According to the structure
of gerotor set, Hydraulic Steering Unit 10 series can be divided into 2
series: 6/7 teeth structure steering unit and 4/5 teeth structure
steering unit.

Hydraulic steering unit with 6/7 teeth structure: according to the size,
this series may be divided into 101,102,103 series ( among these
series, the mounting dimension of 102 series is consistent with that of
BZZ series; ) Hydraulic steering unit with 4/5 teeth structure: it's
defined as 109 series; according to special requirement of special
customers, then we develop 119 and 129 series on the base of 109
series.

10 series SCU integrate inlet check Valve;Each series may be divided
into 2 series acording to the steering unit integrating cartridge calve or
not, SCU without valve and SCU with S,SCU without valve doesn't
integrate pressure valve,SCU with s integrates pressure valve As for
open center non reaction steering unit,"1" represents the SCU with
relief valve and shock valves,"4"represents the SCU with relief valve.
Please consult P13 for the introduction of 101 series,102 and 103
series, while P47 for 109 series.



AERENNIBIRATF]
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

10RFIZREROE
Hydraulic Steering Units 10 Series

RI=#BA Order Code

0 0 O0-0-0-0-0

\— O

Ports Code
LGEREDSEE

Relief Valve Pressure Settings

HE

Displacement

— 1 FFOCAEMA 1:0pen center non-reaction

ee — 2 FHvB/ A 2:0pen center reaction
wﬁt’_ i —t— SFINFMA 3:Closed center non-reaction
Funanon Coda — 4T A 4:0pen center non-reaction
— 5:AEERRA! 5:Load sensing
SRR — S:/FESIE S:Integral Valve

Code forIntegral valve L e ReptERiR Omit:Without Integral valve
TS — 1E—fMEER TR, 1:1st mounting type

RIS s : b
. ——— 2 MPEER YA 2:2nd mounting type
Code for Series — 3FE=F0EER YT, 3:3nd mounting type

— 9109 E R R, 9:Mini SCU

s b I
Cycloid Rotary Valve Hydraulic Steering Units

16



RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

ORI ERERE OB
Hydraulic Steering Units 10 Series

IS 15%BH Order Code

40— [ [ LI —L]

BOREE

Ports Code

HE

Displacement

IhEerse

Function Code

101 RIS REEERR RS M)

101 Series Hydraulic Steering Control Units(without integrated valve)

I 8EATS Function Code

ﬁ_m___w& :
| i
L [
- INBER = .
: —_—— v w R A
N | i
‘W —HO—€ i !
i [ |
i » T | |
T i i
| I I
i_ ..... SEP—— _,__\_ ..... " P o | I
P - T
101-1 101-2 101-3
FUTR N FovaR M R R M
Open Center Non-Reaction Open Center Reaction Closed Center Non-Reaction

17



AREREHNERLEA

. Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

101-1. 2. 3 RII2REEEIE
101-1,2,3 Series Hydraulic Steering Control Units (SCU)

FERFARS# Main Specification

Parameters Type 1071 -s-iokios

Function Code 12,3 1.3
Displacement(mL/r) 50 63 80 100 126 160 200 250 280 315 400
Rated flow (L/min) 5 6 8 10 12,5 16 20 25 28 31.5 40
Max. input pressure (MPa) 17.5

Max. cont. back pressure (MPa) 25

Weight (kg) 5.70 5.76 5.84 5.91 6.05 6.25 6.45 6.68 6.86 7.06 7.45
Dimension L (mm) 130 132 134 137 140 145 150 156 161 166 176

% #E R~ Mounting Data

482+0.3 16/32-12-30" (SAE)
depthld
-

|
|
I
L
91

B 4247 Ports Threads

53 P, T. A, BiBO ERBIRNC RV
Code Ports P,T,A.B Column Mounting C Valve Mounting V
A M20x1.5
B M20x1.5 O-ri
0x1.5 O-ring Kiia
(o] M18x1.5
D M18x1.5 O-ring
E G1/2 M10
M10x1
u G1/2 O-ring
G M22x1.5
Q M22x1.5 O-ring M12
M
F 3/8-16 UNC 3/8-24 UNF
3/4-16UNF O-ring
I M10
M10
N M10x1.25

E1: BOP, T, A, BEIRE14 mm, ERIERENC. VEVRE16 mm,

Note 1: Ports P, T,A.,B Depth : 14 mm; Column Mounting C & V Depth: 16 mm.
2. HEtBOERD I IMNAERS.

Note 2: The code of other ports dimensions will be listed in an agreement.

18



AE R NBRLA
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

101-1. 2. 3 RI|EHER MR
101-1,2,3 Series Hydraulic Steering Control Units (SCU)

101-1. 2. 3 FHiITHE%RS Order Code

Pos.1 Pos.2 Pos.3
100 | = | » [ - [ s« [ - | « |
| Pos.1 | - |DJ§E%§— Function Code ‘

Hd: 1:7uF/ M 1:0pen Center Non-Reaction
2:H B &N 2:0pen Center Reaction
3: (A Io /s i 3:Closed Center Non-Reaction

| Pos.2 | = |HE§ Displacement mL/r ‘

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

| Pos.3 | = |5EECH’€E% Ports Code ‘
A, B, C., D, E U G, Q M, F, I, N

Ij=EE=0 7 For example:
101 RYLEIES, FHUTTRA, HE125mLr, Order code
PGHORLAG/2, FEBHEROMESIERIRL 1011 -125- E

M10, XA S9: 101-1-125-E

Ports:P,T,A,B G1/2; Column
Mounting Thread-C M10

- Displacement: 125 mL/r
Open Center Non-Reaction

19



AE R NBRLA
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

101S-1. 2. 4 BRI HEEEEE
101S-1,2,4 Series Hydraulic Steering Control Units (SCU)

101S-1. 2. 4R HEEOBMESEEIRIRSR T SCU 101S8-1,2,4 series inherits the steering function of 101
101 258 ¢ MRS O 2REtSm IhEL, 101 SED|I5G e series both in the structure and in the principle. The feature of
AE7E101 Z0IEN HS22m . E0iE. AHELRA 101S series is to have the following valves functions

y Bl EE - . y incorporated inside one housing as follows: the relief valve, the
SE;};{J&EIE‘;?;I-%E%%%:%EEﬁgﬂ%glfﬂfﬂp IR shock valves, the suction valves and the check valve according
] ENN >

to the different requirement upon the base of the 101 series .
This kind of structure is more compact, and it's more convenient
in operation.

RI=45%08 Order Code

1018 — [ — OO0 — 00— O

]— ORI

Ports Code

ZEHEMEEE

Relief Valve Pressure Settings

HE

Displacement

DEERTS

Function Code

1018 AT RIEROF(SEME)

101S Series Hydraulic Steering Control Units(with integrated valve)

IhBEFF= Function Code

| A B |
i \ﬁ #‘ i
T I !
(=
Wl Fo m
=h
: I R S |
! -
P T
10151 1018-2 1015-4
RTTRA FRBERA FHGTERA
Open Center Non-Reaction Open Center Reaction Open Center Non-Reaction

20



Fluid Power

epl

RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

101S-1. 2. 4 BRI HEHEEZE

1018-1,2,4 Series Hydraulic Steering Control Units (SCU)

FERARSH Main Specification

Parameters Type  101S-#-sss-ss-s
Function Code 1,24 1.4
Displacement(mL/r) 50 63 80 100 125 160 200 250 280 315 400
Rated flow (L/min) 5 6 8 10 12.5 16 20 25 28 32 40
Max. input pressure (MPa) 17.5
Relief Valve Pressure Settings (MPa) 06,07,08,10,12,14,15,16,17.5
Shock Valves Pressure Settings (MPa) 12,13,14,16,18,20,21.22,23.5
Max. cont. back pressure (MPa) 2.5
Weight (kg) 575 5.81 5.89 5.96 6.1 6.3 6.5 6.73 6.91 7.1 7.5
Dimension L (mm) 130 132 134 137 140 145 150 156 161 166 176

% # R~ Mounting Data

depth1d

16/32-12-30" (SAE)

91

f[EEE JILTTTT]
|_ 44_
L 60

N

s %24r Ports Threads

Hi5 P. T. A, BHDO EEIRLIC TEBIRIY
Code Ports P,T.A.B Column Mounting C Valve Mounting V
A M20x1.5
B M20x1.5 O-ring
M12
C M18x1.5
D M18x1.5 O-ring
E G1/2 M10
M10x1
U G1/2 O-ring
M M12
F ) 3/8-16 UNC 3/8-24 UNF
| 3/4-16UNF O-ring M10
N M10x1.25 Mg

E1: BOP, T, AL BEJRE14 mm, EERAC, VBTRET6 mm,
Note 1: Ports P, T,A,B Depth : 14 mm; Column Mounting C & V Depth: 16 mm.
x2. BEfBOEREDIMNRENRS.

Note 2: The code of other ports dimensions will be listed in an agreement.

21




RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

Fluid Power

101S-1. 2. 4 RIL&HEEEEFE

101S-1,2,4 Series Hydraulic Steering Control Units (SCU)

101S-1. 2. 4 F=RiTH& 4= Order Code

Pos.1 Pos.2 Pos.3 Pos.4
| o8 | = | » [ - [ e | - | & | - | # |
{ Pos.1J - lmﬁ%ﬁ% Function Code J

Hoh, 1: 77/ M 1:0pen Center Non-Reaction
2: 7B/ 2:0pen Center Reaction
4: T/ M 4:0pen Center Non-Reaction

‘ Pos.2 I - ‘HE% Displacement mL/r ‘

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

‘ Pos.3 I - ‘%&ﬁ%ﬁgﬁ@lmegrated\/alve Parameter‘

DZERENGEIE: Relief valve pressure settings (MPa):06, 07, 08, 10, 12, 14, 15, 16, 17.5
(BPREMSEELZER/IENS6MPa)

Shock valves pressure settings is 6 MPa higher than relief valve

‘ Pos.4 | = ‘ED{“Cﬁ% Ports Code
A . B.C.D,E,_ U M_F I, N

[zFRER . For example:
101SAREEE, AR, HE125mL/r,  Order code
ADEBEOR, ZE®/ED10MPa, ZPRED 1018-1-125-10-E
16MPa, [LHORMAG/2, FEBH, KAOEE= !
EEREMI0, Ports: P, T ,A,B G1/2;

EEITHRESY. 1018-1-125-10-E Column Mounting Thread C M10 ;
- - Relief Valve Pressure Settings: 10Mpa

Shock Valves Pressure Settings: 16MPa
Displacement: 125 mL/r
Open Center Non-Reaction

22



Elephant Fluid Power

AE R NBRLA
Elephant Fluid Power Co.,Ltd

101(S)-5(TITE)LIENTX) R B IER E=F

101(S)-5(T)TE)(L)(E)(TX) Series Hydraulic Steering Control Units(SCU)

101(S)-5(T)(TE)NLYENTX)ARI = REROEETRE
e ARARY.

1018-5. 101S-5L. 101S-5ERTL MR
EEOT, SPVFRINTRFARIVERGER.

101S-5LATIERERDEALLEORSIE TLSO8E
NIES, BESIEEERTEHRL:

1018-5ERTIZREROBEELZOAS|H T AZBH
ORNEDES, BiESERXEBVUTHRS.

1018-5T, 101S-5TERIZREROABABIVERD
I, SPVL'ZIDYXL. YXLARSCHRRABINERDER.

101S-5TERIZRER A EELEOAS | 5 AZKBH
ONENES. BESEEGBUTHRA.

101-5TRIIEREXOBABNERES T, WA
DYXL. YXLALEHFAENERGER, HEEARZ
RN L.

101-5TXAIIE R EILOSN TPy, A G
RAE, XIPEEEEFILFA, LFBRASHAREERR.

B2 08 Order Code

10— g¥— LI {~—~[]

OIS
Ports Code

#HE

Displacement

AR, BNEEDLT
Load Sensing,Pipe Mounting

101 AR EROE (RSEWR)

SCU 101(S)-5(T)(TE)(L)E)(TX) series is used in the load
sensing steering system.

SCU 1015-5,1018-5L,101S-5E series adopt modulary
mounting type and can only be used with PVF+ type priority
valve via modulary mounting.

SCU 101S8-5L series guides the pressure signal of port LS out
of prot LL, and transfers the pressure signal to the electrical
control system.

SCU 101S-5E series guides the pressure signal of port A or B
out of port EL. and then supplies the pressure signal to the
electrical control system.

SCU 1018-5T,101S-5TE series adopts Pipe mounting and
via pipe mounting can be used with PVL+ or DYXLYXL type
priority valve.

SCU 101S8-5TE series guides the pressure signal of the port A
or B out of port EL.and then supplies the pressure signal to the
electrical control system.

SCU 101-5T series adopts the pipe mounting, it can be used
only after the pipe mounted with the DYXL YXL type priority
valve. and the relief valve is integrated in the priority valve.
When the 101-5TX series SCU is in neutral position, both of its
left and right cavity are connected with T port. This kind of SCU
are used with LFA,LFB type flow amplifiers.

101 Series Hydraulic Steering Control Units (without integrated valve)

23



RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

101(S)-5(T)(TE)(L) (E)(TX) 2 51| & FE#% [ 28

101(S)-5(TTE)(L)(E)(TX) Series Hydraulic Steering Control Units(SCU)

#1245 88 Order Code

o1 — s5TX 00—

BORRE
Ports Code

H=
Displacement

e i 4l
Load Sensing

101 R £RE%ROE (RS )
101 Series Hydraulic Steering ControlUnits ( without
integrated valve )

1018 —5[ [ 1—J00—0t] — [

E— i

Ports Code

ZE2REMEEE

Relief Valve Pressure Settings

HE

Displacement

aEfeR R, ERLIARHESHIEWRD
Load Sensing Connection, Output signal
101SARIE R EIEO2s (SEMED

101S Series Hydraulic Steering Control Units
(Including integrated valve)

24



Elephant Fluid Power

RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

101(S)-5(T)(TE)(L)(E)(TX) &% £l Ei 28

101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

I REFF= Function Code

i jj—g '—_-I;_E:Il = L : j—“‘[ ‘ SR Rg | :, : ——| I—Lll i'_-:
; ol = ' i - II.@ IL J?A .-j_l
E : - : | el [ . il I[ I
@ ] 9 gﬁf o |9 @fd ]EL
I}!\ ~-5 Sl |§. e _'_'I:Si"”T -l Li- =gt _BJ
1018-5 101S-5L 101S-5E
Modulary Mounting
A B A B
- R 25
I—\ 1J l—]Lﬂ—T :
= : f |
F}V} TTT.%}:E- A .[T‘I -!%}E i
W e : W ol | |
sk RiEki
1l vl e L
i T i
____P_ _.._/::. _?_,_L_S -P_ A -I- ILS
101S-5T 101S-5TE 101-5T 101-5TX
Bz

Pipe Mounting

25




AE R NBRLA
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

101(S)-5(T)(TE)(L)(E)(TX) ZFI& ik E @58
101(S)-5(THTE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

FEHASH Main Specification

Parameters Type 101-5T(TX)-#ww—, 101S-5(T)(TE)(L)(E)-ww-sw-x
Displacement(mL/r) 50 | 63 | 8 | 100 | 125 | 160 [ 200 | 250 | 280 | 315 | 400
Max. input speed (rpm) 100 75
Max. input pressure (MPa) 17.5
Relief Valve Pressure Settings (MPa) 06,07.08,10,12,14,15,16,17.5
Shock Valves Pressure Settings (MPa) 12,13,14,16,18,20,21,22,235
Max. Cont. Back pressure (MPa) 25
Weight (kg) 5.75 5.81 5.89 5.93 6.1 6.3 6.5 6.73 6.91 7.1 5
Dimension L (mm) 130 132 134 137 140 145 150 156 161 166 176

% # R~ Mounting Data

v pEled 8210, 3 16/32-12-30" (SAE).
depth1d

101S8-5

B84

101S-5L

a4

26



Elephant Fluid Power

RERAENNDBERAF]
Elephant Fluid Power Co.,Ltd

101(S)-5(T)(TE)(L)(E)NTX) BRI &M IEE 628

101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

i%# R~ Mounting Data

depth1§

] E r Q. 9
101S-5E : e RE ;f ) _(@__;
- i » II . \\’@
B0
84 |
- 1 105
16/32-12-30° (SAE)
% 43240, 3 “";‘5‘“”
; N —H—=
101S-5T B
- b I
3
101S-5TE

LA

27




Elephant Fluid Power

AREREHNERLEA

Elephant Fluid Power Co.,Ltd

101(S)-5(T)(TE)(L)(E)(TX) ZF|&ik/EEE 628
101(S)-5(TUTE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

## R~ Mounting Data

: 4 16/32-12-30" (SAE)
¢-az__o.a_‘_\ T/ depthis
1 _ ,@
101-5T ——E
101-5TX | o = A 5
vig 3 “ ke i i
|
¢ | 60
= o
105
B 8247 Ports Threads
K3 P. T. A, BHO JERIRAIC YRRV LsiO LL. ELBO
Code Ports P.T.A.B Column Mounting Column Mounting Post LS Ports LL,EL
,T.A, o v
A M20x1.5 M12x1.5
B M20x1.5 O-ring M2 M12x1.5 O-ring
G M18x1.5 M12x1.5
D M18x1.5 O-ring Mg M12x1.5 O-ring
E G1/2 G1/4 M10x1
M10x1
U G1/2 O-ring % G1/4 Oring | M10x1 O-ring
M M12
F ) 3/8-16 UNC 3/8-24 UNF
| 3/4-16UNF O-ring N 7/16-20UNF O-ring
M10
N M10x1.25
w $18.5 M10 Mi2 M12x1.5
H @185 M10 M10 M12x1.5

FE1: HOP. T, A, BERRE14 mm, iEFRLC. VEIRE16 mm, LS, LL. ELESRE12 mm,
Note 1: Ports P, T.A,B Depth : 14 mm; Column Mounting C & V Depth: 16 mm, LS,LL.EL Depth: 12 mm.
2. HtHOEELINNBURENRS.

Note 2: The code of other ports dimensions will be listed in an agreement.

28



AE R NBRLA
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

101(S)-5(T)(TE)(L)(E)(TX) E&F|& K [ES 058
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

101-5T F=@iT& 4= Order Code

Pos.1 Pos.2 Pos.3 Pos.4
Lo | - [ s | v [ - [ ] -]
| Pos.1 | = ‘J;{]ﬁ‘éﬁ-g— Function Code ‘

5:AEHERRE 5:Load Sensing Type

| Pos.2 | - ‘{ﬁ%ﬁﬂﬁ}%ﬁzﬁ Priority Valve Connection ‘
T-&35E8 T:Pipe Mounting

‘ Pos.3 ‘ - ‘Hliﬁ Displacement mL/r |

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

| Pos4 | - [MOHH Port Code |
A B.C, D E, U M F ILN

101-5TX = m@iT5& %= Order Code

Pos.1 Pos.2 Pos.3 Pos.4 Pos.5
Lo | - [ s | = [ x [ - [ ]| -]
| Pos.1 | - ‘D‘_‘}%"éﬁ% Function Code ‘

5:AEEmA 5:Load Sensing Type

| Pos.2 | - ‘ &, Priority Valve Connection ‘
T:&10%# T:Pipe Mounting
| Pos.3 | & ‘ YEm28chiIHEE  Neutral Function of SCU ‘

X: HIEEB8hiify, KOS AGRONTBOEEN.
X: When the 101-5TX series SCU is in neutral position, both of its
left and right cavity are connected with T port.

‘ Pos.4 ‘ - ‘HE% Displacement mL/r |

50, 63. 80, 100, 125, 160, 200. 250, 280. 315, 400

‘ Pos.5 ‘ = ‘Eﬂﬁﬁg Port Code |
A.B.C.,D,.E. U M, F_ I, N

29



RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

Fluid Power

101(S)-5(T)(TE)(L)(E)(TX) I 2B EE RS
101(S)-5(THTE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

101S-5 = RiT 4w Order Code

Pos.1 Pos.2 Pos.3 Pos.4 Pos.5 Pos.6
ftos [ - [ 5 | | [ - [ [ - [ | - | « |
‘ Pos.1 ‘ - ‘};‘:‘Jﬁ‘gﬁ%Funcﬁon Code ‘

5:AE{ERE! 5:Load Sensing Type

\ Pos.2 \ - ‘{tﬁ'ﬁmfgﬁﬁﬁ;ﬁ Priority Valve Connection \

Hop: B4 #RIERE Omit: Modulary Mounting
T: B1,&# TPipe Mounting

| Pos3 | - | BREHISSIERA Electrohydraulic Control Signal Connection

Hp. B8 85ERES: Omit: No electrohydraulic signal.
L: LLOSIHEYZLSOEDES L:The pressure signal at LS connection drawn forth from the LL connection.
E: ELOS|HBVATIBHOBIE/ISS E:The pressure signal at the port A or B drawn forth from the EL connection.

‘ Pos.4 ‘ - ‘ﬁ;g Displacement mL/r ‘

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

‘ Pos.5 ‘ - ‘%ﬁzﬁ‘ﬁ]gﬁéﬁglmegmted\f&lve Parameters ‘

L REETE(E: Relief valve pressure settings (MPa):06, 07, 08, 10, 12, 14, 15, 16,175
(BOREEEBLZEREDS6 MPa)

Shock valves pressure settings is 6 MPa higher than relief valve

‘ Pos.6 ‘ - ‘ED{'&&E} Ports Code
A.B.C.D,.E. U M, F_ I, N, W, H

A - For example:

101SRIRMILE, AEE/AE, B2ETNE  Order code
BEOILER, BREGIESMAZBBOSIE, 1915-5TE-125-10- E
H2126mL/r, ADB2BR, Z=/ED
10MPa, ZPiEED16MPa, IQHOIRMA
G1/2, EOEEIEEIEAMI0, LSEESO
G1/4, ELIESOM10x1,

OSSR SA: 101S-5TE-125-10-E

—— Ports: P, TAB G1/2;

Column Mounting Thread C M10;

Port: LS G1/4; Port: EL M10x1

Relief Valve Pressure Settings :10MPa;
Shock Valves Pressure Settings:16MPa
Displacement: 125 mL/r

Pipe Mounting,with an Electrohydraulic Signal

30



hank Fluid Power

RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

103-1 & 5| &k E 28

103-1 Series Hydraulic Steering Control Units(SCU)

103-1 AV EREROSFDSIHENEE, EERYN
BERRE, 1101, 102R0TBBER SINSEES
ST RZEER, e NAFEREROEQESRR, W
RZE, B, RESWEN, TRIERESSE. BN
e, R ARBDTHRRARDEDN05E
S, BILEE. RF. O%.

Y2458 Order Code

— BORE
Ports Code
HE

DERS

The structure of 103-1 series Hydraulic SCU is more compact
and its connection dimension conforms to the international
standard, while it is different from 101 and 102 series which are
suitable for assembly in the narrow space. It's widely used in
the low-speed vehicles, steering control system, such as forklift,
tractor, combined harvester, engineering or road construction
machinery,and the marine rudder, etc. It can obtain more
powerful output steering force through the input force and it
operates easily,flexibly and reliably .

Displacement

Function Code
103 A4 @ EEORE

103-1 Series Hydraulic Steering Control Units

I BEFFS Function Code

103-1
FHONTE R AT
Open Center Non-Reaction

31



AE R NBRLA
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

103-1 R | & ik EH 2§

103-1 Series Hydraulic Steering Control Units(SCU)

FERFASHE Main Specification

Parameters Type 103-1-r#x-»

Function Code 1 1 1 1 1 1 1 1
Displacement(mL/r) 50 63 80 100 125 160 200 250
Rated Flow (L/min) 5 6 8 10 12.5 16 20 25

Max.Input Pressure (MPa) 17.5
Max.Cont.Back Pressure 2.5

Weight (kg) 3.85 4.0 405 | 410 | 4.25 4.4 46 4.8

Dimension L (mm) 123 125 127 130 133 138 143 149

%R~ Mounting Data

&4 16/32-11-30" (SAE)
depihls

|
|/ -
— ] 4_ -.| .;l %
H— "I
=
L
S 1824 Ports Threads
. P. T. A, B/IO ERZIRLIC EEERAV
K i%Code : :
Ports P ,T,A.B Column Mounting Valve Mounting
A G3/8-19 O-ring
M10x1.25 M10
B 9/16-18UNF O-ring
C M18x1.5
D M18x1.5 O-ring M10 Mi12
M
F 3/8-16UNC 3/8-24UNF
I 3/4-16UNF O-ring v
s M10
N M10x1.25

1: BOP, T. A, BASRE14 mm, JEFIBLNC, VHIRET6 mm,
Note 1: Ports P, T, A,B Depth : 14 mm; Column Mounting C & V Depth: 16 mm.
A2 HAUHOEEAIDMRERS.

Note 2: The code of other ports dimensions will be listed in an agreement.

32



AE R NBRLA
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

103-1 R 5 & EE 02

103-1 Series Hydraulic Steering Control Units(SCU)

FE 1T 42 Order Code

Pos.1 Pos.2 Pos.3
[0 | - [+ | - [ e | - [ » |
‘ Pos.1 | = ‘];’Jﬁ‘éﬁ% Function Code ‘

1: FHLFRAL 1: Open Center Non-Reaction

‘ Pos.2 | = ‘ﬁE% Displacement  mL/r ‘

50, 63, 80, 100, 125, 160, 200, 250

| Pos.3 ‘ - ‘ED{"CTJQ Ports Code |
A, B, C.D,F, M, I.N

PR - For example:
103RMEGE, FLWEREN, H=2 Order code
125mUr, DUBORSIMI8x1.5, SEEHEA= 16EL =100

FEFIZRUMI0, BOBEMIESIRMIZ,
e EHR=S4: 103-1-125-C

33

Ports: P, T, A, B M18x1.5;
Column Mounting Thread C M10;
Valve Mounting Thread V M12
Displacement . 125 mL/r

Open Center Non-Reaction



RERAENNDEBERAF]
S Elephant Fluid Power Co.,Ltd

103S-4 R &HER R
103S-4 Series Hydraulic Steering Control Units (SCU)

103S-4 %5155 E103-1 & D EO 20y EEY L, 103S-4 series steering unit contains, in addition to the function of
MEEZRIADEORSIIEE. 103-1 series steering unit, also function of relief valve and inlet
check valve.

#5158 Order Code

—— A0

Ports Code

ZEREREE

Relief Valve Pressure Settings

HER

Displacement

DEERS

Function Code

1038-4 RIEHREILOES (SEWK)
103S-4 Series Hydraulic Steering Control Units
(Including integrated valve)

IHEERFS Function Code

A ‘ ‘ B
? —, T —
=
— -
i T
1035-4 J
FDT RN M e
Open Center Non-Reaction H A

34



RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

Fluid Power

epl

103S-4 RIN& R EHE B
103S-4 Series Hydraulic Steering Control Units (SCU)

FERKASH Main Specification

Parameters Type 103S-d-sssk-sk-x
Displacement(mL/r) 50 63 80 100 125 160 200 250
Rated flow (L/min) 5 6 8 10 12.5 16 20 25
Max. input pressure (MPa) 17.5
Relief valve pressure settings (Mpa) 06.07.08,10.12,14,15,16,17.5
Max. cont. back pressure (MPa) 25
Weight (kg) 4.75 4.81 4.89 4.96 51 5.3 5.5 573
Dimension L (mm) 123 125 127 130 133 138 143 149

##E R~ Mounting Data

16/32-12-30% (8AF)
depth 15

§5.5

103S-4

. 24

sRO424r Ports Threads

£ 18 P. T. A. BHBO EERY C BB V
Code Ports P,T,A,B Column Mounting C Column Mounting V
A G3/8-19 O-ring
M10x1.25 M10
B 9/16-18UNF O-ring
C M18x1.5
D M18x1.5 O-ring M0 M12
M
F ) 3/8-16 UNC 3/8-24 UNF
| 3/4-16UNF O-ring M10
M10
N M10x1.25

1. BOP. T, A, BERE 14 mm, EBIRNC., VIVRE16 mm,
Note 1: Ports P, T.A,B Depth : 14 mm; Column Mounting C & V Depth: 16 mm.
2. BtUBOEEATIREAS.

Note 2: The code of other ports dimensions will be listed in an agreement.

35



AERENNIBIRATF]
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

103S-4 BRI &R ERE RS

103S-4 Series Hydraulic Steering Control Units (SCU)

iTE& 4= Order Code

Pos.1 Pos.2 Pos.3 Pos.4
[toss [ - | &4 | - [ | - [ o [ - | « |
| Post | - [1mEAS Function Code |

4: I/ 4:0pen Center Non-Reaction

l Pos.2 | - ‘HF% Displacement  mL/r ‘

50, 63, 80, 100, 125, 160, 200, 250

[ Pos.3 | - ‘Eﬁl‘fﬂﬂf?}&ﬁ{ﬁ Relief Valve Pressure Settings MPa‘

06, 07, 08, 10, 12, 14, 15, 16, 175

EWMOMKS Ports Code ‘

[Posd | -

A, B, C.D. F. MU IL N

[z FZE - For example:
103S-4A5|¥%meE, AR MN, HE Order code

1256mL/r, ADBEQR, ®RED 103S-4 -125-10 - A

10MPa, PGHOKRLIANGC3/8, BEEE=ZE

BIRLIM10x1.25, HOEMRIES R B IR " Ports: P, T, A, B G3/8;
M10x1.5, Column Mounting Thread C M10x1.25;
EOET RS A4 1035-4-125-10-A Valve Mounting Thread V M10x1.5

Relief Valve Pressure Settings: 10MPa
Displacement: 125 mL/r
Open Center Non-Reaction

36



AERENNIBIRATF]
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

109 RINEHEEEEE

109 Series Hydraulic Steering Control Units (SCU)

1092 R EROEERIAENTN4/5E45 109 series hydraulic steering unit is an integrated orbital steering

BNEELRELDE. DJUEREDR. 22 unit with 4/5 tooth structure.This kind of steering unit has a

: 9 N = small and exquisite structure with integrated check valve, relief
Y r== s asea S , g a s
B, EPR, SIIER, EERYNSERN valve and shock valves and its mounting dimension conforms

O, Pl REEFHEIFEBEM, W: M to international standard.This kind of steering unit is widely
Wz, NEEAIN(RETER). [ME 1T 5 used in mini vehicles, such as mini forklift, mini tractor (and

. . aEtZE i other agricultural machinery), mini earthmoving machinery,mini
ﬁlﬁﬁr‘*}iﬂiﬂﬁFEﬁ% Ebﬂgﬁl_ﬁi\mj &7, municipal vehicle, etc. It can obtain more steering output torque
RERANHBIRONDE, BEREFED. R through input of less power, with features of easy, flexible and

& JRSHmR. reliable operation.

BU-S5BH Order Code
100 O — 1 — 0000 —-0O0 —

U

L smroime

Mounting Data

ZEREDEEE

Relief Valves pressure settings

HE

Displacement

DHEERTS: FRINTERNM

Function Code: Open Center,Non-Reaction

HE.: REASEMRE: Omit: Without Integrated Valve
S: RRSADLOR, T/, ZPR

S: With Check Valve, Relief Valve, Shock Valves

V: ‘S AOB@EE,. Z£® V: With Check Valve,Relief Valve
R: F®RZZEME R: With Relief Valve
109ARFERERMSE

109 Series Hydraulic Steering Control Units

ThBERTFS Function Code

L R
!—'l_, """" J __ g
] J..LIX;E:

e

A

o
il

108-1 109S-1 108V-1 109R-1

37



~
~

AR

Elephant Fluid Power

i

Elephant Fluid Power Co.,Ltd

HEh NBRLE

109 RIEKERE S

109 Series Hydraulic Steering Control Units (SCU)

ERARS# Main Specification

Parameters Type 109%—1—#ss—sk—s
Displacement(mL/r) 20 32 40 50 63 80
Rated flow(L/min) 3~20
Rated Pressure(MPa) 12.5
Relief Valve Pressure Settings(MPa) 06,07,08,09,10
Shock Valves Pressure Settings(MPa) 12,13,14,15,16
Steering Torgue(N-m) =1.8
Max. Cont. Preesure in Line T-P(MPa) 1
Dimension L{mm) 87 92 96 100 105 113

% #E R ~F Mounting Data

$36.9 D198888

Husber_of teyth 40

38




RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

109 RIILEERE R
109 Series Hydraulic Steering Control Units (SCU)




ARRENHBRAF
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

109 RILEREE LS

109 Series Hydraulic Steering Control Units (SCU)

109 = iTH# 4= Order Code

Pos.1 Pos.2 Pos.3 Pos.4 Pos.5

109 | « | - [ v ] = [ee ] - | =] -1+ |
| Pos.1 ‘ - |%&Hﬂ§§iéﬁ% Integrated Valve Parameter‘

Hoh: iE: =21/ Omit: Without valve

S: S92, ADZEOR. L5/ S: With Relief Valve,Check Valve,Shock Valves

V: S22, AD20ORE V: With Relief Valve,Check Valve

R: SLZE¥ R: With Relief Valve
‘ Pos.2 [ - ‘wﬁéﬁ%FunctionCOde ‘

1. 7T/ M 1:0pen Center Non-Reaction

‘ Pos.3 [ ‘}3&% Displacement mL/r ‘

20, 32, 40, 50, 63, 80
l Pos.4 ‘ - |$ﬁ§,ﬁﬂ§¥£é‘ﬂﬁ‘ Integrated Valve F'arameter‘

BERENSTE(E: Relief Valve Pressure Settings(MPa):06, 07, 08, 09, 10

(EPREDEEELZER/ETS 6 MPa)
Shock Valves Pressure Settings is 6 MPa Higher Than Relief Valve.

‘ Pos.5 [ - ‘ﬁ}%RU{f%Mounting Data

A, BARAEHBORY
B. BIARHEHORY:
C. BARANBHBORY
D. WARAEHHORY :
E. BARGEEBH0ORY:
F. BIABRSHB0ORY:

Tapered 1:20, Key 5x6.5, Ports: 9/16-18UNF;
Tapered 1:12, With 11/16 In-40 Serrations and 5/8-18UNF, Ports: 9/16-18UNF;
: DIN 5482 B17x14, Ports: 9/16-18UNF ;
: Tapered 1:20,Key 5x6.5, Ports: M14x1.5;
Tapered 1:12, With 11/16 In-40 Serrations and 5/8-18UNF, Ports: M14x1.5;
DIN 5482 B17x14, Ports: M14x1.5,

g =l e g

For example:

Jﬁlﬂﬂﬁ?:ﬁi - B Order code
ARIEEERE, AT/, HE32mLr, 109 S-1-32-08-A

SLEW. AO2OE. EPR. LERED

8MPa, EERUAR, HEQBIIHESH: \— Mounting Data: A

109S-1-32-08-A- With Check Valve, Relief Valve Pressure Settings:
8 MPa, Shock Valves Pressure Settings:14MPa
With Displacement:32mL/r

Open Center Non-Reaction

With Relief Valve, Check Valve, Shack valves
109 Series Hydraulic Steeing Control Units

40



AREREHNERLEA

)@ Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

PVEIE i
PV Type Priority Valves

PV++-40.60-80 8 {f}, 55 B FI A EHE R AR QISS EEEE PV+#-40,60,80 type priority valve is matched with the
H, Y&2FT0EODREENEEEE TR, T4 load sensing steering unit. When the hydraulic oil flow to the
FRETK SRS ESIERT, e RISEDEE priority valve , and the load or revolution changed ,
s, PVF=+-40,60,80 typesprior)i(t;)vah;e{;; (i;)n;t(:)l-c;(uEle;;ycfjesFigr;.

oo i 5 matched with the 101S-5(L or = : *-

PVF+-40.60.80 B/l 7T IR MR TV &2 5 7, 51018 40,60,80 priority valve has 2 kind signals: PVFS-40,60,80
5(L)(E)5i1 02$'5(L) (E) RRBASH—IALA; PVFe- o signal,PVFD-40,60,80 dynamic signals.
40 60.80{L WD AFEHIESPVFS-40.60.80f00)51ES PVL=-40,60,80 type priority valve is pipe design ,
PVFD-40.60.80; matched with the 101(S)-5T(TE) or 102(S)-5T(TE) SCU,

PVL%-40.60.808 {5 AEEE G, S101(S)- PVL+-40,60,80 type priority valve has 2 kind signals:
5T(TE) T102(S)-5T(TE){EaIShEEHHE; PVL*-40.60.80 PVLS-40,60,80 static signal,PVLD-40,60,80 dynamic signals.
4N A ERAZ2PVLS-40.60.80 F5) 4= 2PVLD-40. 60-80, PV=#%-40,60,80 type priority valve is not inferchanged

PV%-40. 6080 Al [/ 5e RS LS I HBRZ 2. fn.rith the L? inlet pressure control relief valve, the relief valve
integrated in the SCU.

#IE45 AR Order Code

v O O-0-0-0
_ onm

Ports code

FERlED

Control pressure

RAAORE

Max .input flow

S: F5iES, D ISES

S: static signal, D: dynamic signal
F: {RIVERE, L BEE

F: modulary mounting, L: pipe mounting
PV BU{L5EIR

PV type priority valves

41



Elephant Fluid Power

ARRENHBRAF
Elephant Fluid Power Co.,Ltd

PV AL 55 1]

PV Type Priority Valves

I 8E#FS Function Code

B B
P EF T
PVFS-40,60,80 PVFD-40,60,80
BEES WAES
Static Signal Dynamic Signal
W23 ERE Modulary Mounting
CF EF L|S CF EF LS
|
T T T WA : 7 roT T I i
L aalnin o ¥ T
. ; v | :
B = A ] = 0|
i W e i
P P
PVLS-40,60,80 PVLD-40,60,80
BSES WSES
Static Signal Dynamic Signal
ETEE  Pipe Mounting
FEHARSH Main Specification
Parameters Type PVFS(D) , PVLS(D)
Max. Input Flow (L/min) 40,60,80
Control Pressure (MPa) 0.45,0.7,1.05
Max. Pressure in Qil: P, EF (MPa) 20
Max. Pressure in Qil: LS, CF (MPa) 16

42




hank Fluid Power

RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

PVEYL ST i)

PV Type Priority Valves

## R~ Mounting Data
PVFS(D)-40. 60

_
AL
<

s 123
PR i :
Sl ()
Fhl i &% L

= .EBT_ 44 J '-; S
. A M
Ports P ,EF Ports T,A,B
Code
Thread Depth{mm) Thread Depth{mm)
A |M20x1.5 M18x1.5
B |Gi2 G3/8
14 14
C | 7/8-14UNF O-ring 3/4-16UNF O-ring
D | M20x1.5 O-ring M18x1.5 O-ring

PVFaS(D)-60

_W10x80
0x80 |

55

25 ¢

TS
il

M10x4s

Ports P EF Portis T,A,B
Code
Thread Depth(mm) Thread Depth(mm)
A | M20x1.5 M18x1.5
B |aG1e G3/8
14 14
C | 7/8-14UNF O-ring 3/4-16UNF O-ring
D | M20x1.5 O-ring M18x1.5 O-ring

43




RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

Fluid Power

PVAIAE ST
PV Type Priority Valves

## R~ Mounting Data

PVFS(D)-80
2xN10x45 ——
. =
O 1O .0
- - . | | :_| | i |h__‘_ —l.
pf TN 44 26 S Y J S
~EHE Y . =3 S
- 128 Ports P,EF Ports T,A.B
T Code
{jﬂrr vty Thread Depth(mm) Thread Depth{mm)
Hil o
YE Rkt A | M22x1.5 M18x1.5
B |Gie G3/8
L 14 14
=/ C | 7/8-14UNF O-ring 3/4-16UNF O-ring
Hil 1
tleLJ_ L: D | M22x1.5 O-ring M18x1.5 O-ring
PVLS(D)-80
L 40
- ; . _1<m
i s . r_t I
co| © — ,
¥ 1 i —
K i
1
2 | _|2x410.5 22
142 A
” 87 i
- 43.5 Ports P EF Port CF Port LS
jr g Code
Thread Depthimm)| Thread |Depthimm)| Thread |Depth(mm)
A {M2xt 5 M18x1.5 M12x1.5
B |GiR G3/8 Gi/4
14 14 14
C | 7/8-14UNF O-ing 3/4-16UNF O-ing 7116-20UNF O-ting
D |M22x1.50-ring M18x1.5 O-ring W12x1.5 O-fing

44



RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

Fluid Power

PVEI{E S
PV Type Priority Valves

EEITH# 42 Order Code

Pos.1 Pos.2 Pos.3 Pos.4 Pos.5
[ » [ « [ & [ = | & [ = Jwe ] = [ & ]
| Pos.1 I — | EE ST Mounting ‘

Hp: FARIEE F:Modulary Mounting
L:ETi&EE L:Pipe Mounting

[ Pos2 | - [{5Sm Signal Model |

Hth. S:47%/5S S:Static Signal
D:5h75{=S D:Dynamic Signal

| Pos3 | - | BAADME Max.Input Flow (Limin) |
40, 60, 80
I Pos.4 I - ‘#I‘“rﬁulijj Control Pressure (MPa) ‘

0.45, 0.7, 1.06

| Poss | - | WORE Ports Code |
A.B.C. D
NzFRZE(5 - For example:
PV BT, RIVERE, BSES, Order code
BRAADMRE40 Limin, FHIESD 0.7 PVF D-40-0.7-B
T. A. BHCIAG3/, — Ports PEF G1/2; Ports T, A, B G3/8
Control Pressure: 0.7 MPa

hEmRV] iS4 PVFD-40-0.7-B
B Max.Input Flow: 40 L/min

Dynamic Signal

45



RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

Fluid Power

AR A [ s 2 S Ao PR v A T

—s ﬁ;g%aﬂ_#‘ff‘rﬂ?% LR A S
1, ZEAVE R _ ) )
(1) gn .3‘:% M‘ﬁﬁ;%’%}Eﬁ[‘-lu‘—'—j FHE’]I ALK, [ Bl 1 7 e o 2B Lo A P ] R
L o e
Alar 205 Jo s A0 W B (B = 2 Y HIBLHY K
2M%%§%§$§WN%XMET%H%@ﬁﬁ,kBﬂﬂ%J%%M%Wﬂ A
v (HIIR Y= S+ A0
(1) __4P=117$Hi§ﬂ§{5’£iffh£rﬂ;if&,_ IR <. 5m/s
(2) 5A, Byt LU0 B /) |k, PR A < 4 /s
u)ﬁ@ﬁ {4 %Q5
(2) EEE A 220G qJE?&LYJ%FFEH%Oum&’JF MO IERS . Felm RGERThAR AL E R TR R R A

ﬁ,ﬂﬁumﬁﬁAmﬁuT,iﬁ&kﬁﬁmﬁﬁTu%ﬂ [ b 1] By 1k 2 S N i

(3) EmdsHimME AL Test " 33est, BUCERMRENRIEm. #ma o ey TI/EMmRN20C ~ 80T, WAH BT
{EMERTEE A-30T ~100C . #lE: FIREFMEHN T, HBrtkiesa i TE.

(4) ¥:16 RGRER GRS EHABRHA, IHEAREMBREME. S8 g LN IF, EhE Kk
Eﬁﬁﬁmﬁ,Eﬂﬁmmﬂ¢$ﬁm%*mom%%mmm&%H%%M%%%ﬁ,%@ﬁwﬁ.ﬁﬁﬁﬁﬂﬁk
ﬁﬁﬁ%ﬁﬁ_c&mﬂwmuﬁ$%1a),MEmﬁMMéﬂ S . AT BT (AN R
M$H§g,ﬁ%yﬁw R ) & SifE &R TIERME T TAEREBIER . o o _

(5) MARIEMIER, B IERS REEFBSAEEN, ERER KRR . NS ERE A IR SIS F L

U, DERT E R CREHUR R - R AL b, i R e, B VA E ST O )

(6) Hem@ AP AR P ERE RRN, NEEFHERER, AoTH R i, EAER IR #iR
2%, DURARIR R, RERR AR #E 7 A

The installation and use of full hydraulic steering note
1, installation precautions:
(1) When installation steering gear must ensure coaxiality with column, must have a gap of 1 mm in the axial direction.
(2) The depth of screw connection to the steering column tightening steering column is <15mm.
(3) After steering gear installed, must check steering wheel turns to ensure the flexibility of the return position.
(4) Connection pipeline: P oil port connects to the oil supply pump, T oil port connects to the oil tank, and A and B oil ports
respectively connect the left and right oil chambers of the steering gear.
2, oil flow rate considerations:
(1) The oil supply circuit connected to the P oil port, the oil flow rate in the pipe is recommended to be £1.5m/s.
(2) The pressure circuit of the oil cylinder connected to the A and B ports is recommended. The oil flow rate in the pipe is
recommended to be <4~5m/s.
3, other matters needing attention:
(1) The diameter of the steering wheel must not exceed 500mm.
(2) A return filter with a filter accuracy of 30 um should be installed in the return line of the steering gear. The position of tank is
generally higher than installation position of steering gear, and return pipe is inserted below oil level, so oil can be filled only when
the manpower is turned, and air can be prevented from entering the oil line.
(3) The oil viscosity of steering gear is 17cst~33cst. It is recommended to use low-condensation hydraulic oil. Steering gear
allows normal working oil temperature 20°C to 80°C, and the limit working oil temperature range is -30°C to 100°C. Reminder: In
case of abnormal oil temperature, steering performance will decrease.
(4) After steering system assembled, it shall be tested: clean oil tank before operation, inject hydraulic oil to the max oil level.Loosen
cylinder nipple and allow pump to run at low speed until it is out of oil. Remove link,turn the steering wheel so that the piston
reaches left or right position, and then fill the tank to specified level. Tighten all thread connections, connect the piston rod, and
check if the steering system is working properly.
(5) It must be ensured that the oil is clean to prevent the dirt to cause steering failure. Always check the condition of the filter
element and the oil. If necessary, give a replacement.
(6) If steering failure, must be carefully check the reason first. The steering wheel must not be pulled hard, and the steering gear
should not be disassembled to avoid damage to parts. It is forbidden for two people to turn the steering wheel at the same time.

46



Elephant Fluid Power

RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

T H L T R Rk T i

Hhi

REREA

Hebs Ak

eSS, B, MR FE &
1 i i

I i 5 R A ) P B R b bR B (ERE A ) sl S @ H
AR sk S i O YRR

[, BIENTES MELRRUER, HREEE CERD

o) 2 0 A T

1) A 0 b DO R oA

TiREHm (HH)

PR I R, PSR R SR

AR T B i A2

AR LERTIER (D& RN, MR, THamnies)

LR, BRI, A
T S S 50

HERHEPHEN

b AR 52 T TR R LA R O R e ERm L, T

R R AR

R i T R

Tnirh % H v v

LR FE K

{4 o i

i SRR g, FAERERD

RS Py T it S g 2K 2

MERE K, R AHER,
IMERBERETS R AE, BOETTR:
PR A 5 0 1 R A OB AR

T A A R R 0 S R

7 9 4 T ) R 10 U T 6 ) SR T

W A D A B (RS 16MPa)

4 e A O O MR

PRI (R I O A A ) B R e 1

1 i S E A

FEE 47 100 e A A A A R TR

WRFBE N (R R

Frindk e ¥ B A RS

FeT S T (0 B B Y

SERp LY
FpIEhE LA S M ST AR R D (ORI - ERGE L) R,

1 55 B B PR A

4 ) 397 2 A R R I

IEN AR AR (R TEAT R DR AR F T )

e e R BT S, A e R

AW ] £ R L AP

&R SR

A I L S ki A Eh . S TR ) B oA e (] g A W AE T
R T 4 el
AR R 5 2 6 2 7 ) S ek B (R AU gk R IR MR R ARG, R A, R R
0 I AR
P O AL, RS R R P % 4 IRE R R ol 8 T e
. ) I N it PR e T A R, HRE. fENE
BATERELNTRENEE WAL Yo EE I R B R
S il R AR 4
AN, WS R L W i, GREPE R AL
2, common causes and troubleshooting
Matter Causes Troubleshooting

Qil leakage between back cover, stator and valves

rear cover stator bolt looseness (or uneven force), or O-rings damaged

Evenly tighten the bolt to the specified value, replace the seal (special)

Oil leakage at steering shaft

shaft seal ring excessive wear or damage

Replace the seal (dedicated)

feels light when turn the steering wheel slowly, feels
heavy when turn the steering wheel guickly

steering pump il supply not enough

Check whether oil pump Is working properly, {Including liquid level,
pump efficiency, pipeline patency, etc.)

There is foam in the oil, irregular sound, the steering

wheel turns and the cylinder does not move

There is air in the steering system

Eliminating the air in the system, Check the suction pipe leaks or not, Or

if the return nozzle is below the liquid level

Tank fluid is below the specified position

Add oil to prescribed height

Heavy steering continues to occur

Heavy oil viscosity

Use oil as required

Feel heavy when turn fast and slow, stressless

Check valve between PT failure

Check the ball. If the steel ball is missing, then insert the steel ball; If
the ball gets stuck dirty, it should be cleaned; In both cases, it is
necessary to check the effectiveness of the sealing tape recovery.

Turns light when the load is light, turns heavier when

relief valve pressure lower than steering requirement

Adjust relief valve pressure to specified value (no more than 16MPa)

increas the load

Relief valve stucked by dirt, Or spring failure,Or seal is damaged

Clean relief valve {required to check the effectiveness of seal tape

recavery), or replace the spring or seal

steering wheel can’t auto back to middle position

Spring broken or deformation

Replacement spring

Steering wheel rotate automatic swing to left or right

Rotor and linkage axes are not positioned correctly

Stop immediately| Align the teeth of the linkage shaft with rotor splines

No end point

Low pressure on relief valve

Appropriately increase relief valve pressure

Steering wheel rotates after turning to the end position

Low pressure on shock valves

Appropriately increase shock valves pressure

radial clearance or axial clearance is too large between radial and stator

Replace rotor and stator

when machine is off, turn the wheel, cylinder not move

Low viscosity of oll

Change oil

Vehicle deviation Or the cylinder is slow when turning
the steering wheel

shock valves failure (ball caught by dirty, or spring failure, or seal damage)

Clean shock valves, replace spring or seal

Spring broken

Change spring

not good seals at safety valve make the valve always open

replace parts

Valve core stuck due to burr or oil stain

Remove, inspect, repair

pressure of Steering system is able to adjust

Poor spool operation

Check if the spool is stuck by dirty

Spring bent or too soft

Change spring

0il is not clean, valve plug orifice is blocked

Replace the cleaning fluid and unblock the orifice

47




RERAENNDEBERAF]
Elephant Fluid Power Co.,Ltd

Elephant Fluid Power

1 Dust seal ring 14 Spacer 24 Name plate

2 Housing, spool and sleeve, 13 Cardan shaft 30 Complete relief valve
Check valve and the seats for relief 12 Setof springs 31 Spring wire
and shock valves are locktited. 15 O-ring 32 Complete shock valve

3 Ball 8.5mm [0.33in] 16 Distributor plate 33 Ballsin

4 Thread bushing 17 Gearwheel set 38 Spring

5 O-ring used with kin-ring (item 6) 18 O-ring 34 Rolled pin

6 Kin-ring 19 End cover 36 Bushing

7 Bearing assembly 20 Washer 35 Ball

10 Ring 22 Special screw 39 Kinring

11 Cross pin 23 Screw 40 Q-ring

48



T & E-TE M,

PROFESSIONAL ON HYDRAULIC-FOCUS ON HIGH QUALITY

CIs

Europe \
North America

Middle East :

Africa /
Asia

S/C America
AR NERAF ELEPHANT FLUID POWER CO.,LTD
hit . EAHCERERIEILA#H398S Add: No. 398 Youyi Street, Shijiazhuang, Hebei, China
FEiE : +86 (311) 68123061 Tel: +86 (311) 68123061
EE: +86 (10) - 80115555-568844 Fax: +86 (10) - 80115555-568844
#i%s : 050000 Post code: 050000

ALk ; https://www.heavyequipmentmaintain.com/ Web: https://www.heavyequipmentmaintain.com/

Hf%E : manager@sjzhjsm.com Email: manager@sjzhjsm.com



